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Module-l
I a. List all task domains of Artificial Idt$fJigence. ,\,. ':'' (06 Marks)

b. Explain Minimax procedure of 1!c -j4t - toe. *'ry,*.[, (07 Marks)
. c. tiJt atl production rules for k$y€terJug problem. @:;.'" (07 Marks)

')4

Note: Answer any FIVE full questions, choosrytg ONE full questionfrom"each modale.

oR ,l-
Illustrate Slot - and -ffieffiructure method in q]ffi and Answering system. (06 Marks)
Explain Hill climbinffiiies which terminates Hl$brithm without finding a goal state or

(04 Marks)
(10 Marks)

* '* h% ffitsJ .*'-":-ft * nry$ffi
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"'*t t
ft' "' ol*u-Moduls-?l+,F 'Ns'.*

its Eqlffi$flt Predicate T,qgio*on
ii) Marcus was a Pompeian

oiv) Caesar was a RE[sr
i^%-^- 

^f L^+^,1 Li'-

#-*'\. Moduk-?:+,r ' r

3 a. Convert the following sffinent into its Eqrrffi$flt Predicate Lpgio*om
D Marcus was a,{nan ii):;'ft{aifus was a Pomgeihn
t11) All rOmpenry.-:W€re KoInanS dvrl.. aesar was a KI$ff

v) All Romar-ffi1ryhre either loyal to,ffiHftnar of hated him. 
.,,

vi) Everyone is loyal to someone :

vii) Peoole oriiv trv to assassinat*rulers thev are not b*l to.

Cons.fruct maximally ypothesis for following training examples.

(08 Marks)
(05 Marks)
(07 Marks)

**l* oR
4 a. Apply Candidate Elimioatibo'algorithm for the dataset given above (Question 3(c)). How do

you classiff following new instance from the set of hypothesis obtained by Candidate
Elimmatton a (12

Instance $kY"*
Il!{f:s:r};

Air Temp Humidity Wind Water Forecast Enjoy
Soort

A Sunny Warm Normal Strong Cool Change ?

8.i." Rainy Cold Normal Hish Warm Same
,l
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Fig. Q2(c)
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What are Horn Clauses? Write a declarative and

difference between Logic and PROLOG.

.$;,'
'll"'EiMr'l:''
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a orocedural representatton.

'n ,1,".@
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18C571

List syntactic
(08 Marks)

(12 Marks)

ry"

IVIodule*3

5 a. Construct decision tree using ID3 algorith- fgt iire following data

-='"&tr:'

g+, W ,, *J',,,..,,,+#* oR l#6 a. Give decision treqffiffiesent the following Bopledn functions :

B &.iWAv[Bnc] iii) A xoR B iv) [AnB]v[cnD].
$d /'...."',,' (0g Marks)

t-S"-ffi:

b. Explain n46itptron with appropriate dialiram Represent AND Boolean function using
'- (04 Marks)Perceptron. '.

c. WritoBa#propagationalgorithm: * d= (08Marks)'&r,; 
x]@.4,* --

i a. A patient takes a lab te,ffi the result comoffiffit'positive. [tr5;$t returns.a correct

poritiu. result in only g8ffittre cases in wfiiffihe disease is actually present and a correct

negative result in oniyg*P" of the cases indh(n tne disease { nof present. Further, 0.008 of

@oaod$"l

8 a. Explaira imum Descriptioqii{,itgth frinciple (S&i:L). (06 Marks)

b. Exp$+,tffiaive Bayes clasgi{s&ond Bayesian beligfNetworks. (08 Marks)

c. Wri[e EM algorithm. ,*%*i (06 Marks)
-q I

,; #e. d*&.;*; trooo{tr"-s

'o .'- s oR
10 a. Illustrate the basic concepl&f Q - learning using Simple Deterministic World. (10 Marks)

b. Explain Q - Learning {$qiitnm (10 Marks)

it

:,-+#%..

.ilF

: descent fule- ,, (08 Marks)
"dr&&l_':' *,o,,,,,,,.\

-v*.W"nnd{:

the entire population have the Cancer. DdffiW atient have CqmFJ ol not/. . (10 Marks)

b. Derive Brute for6ie-$dAP learning and aloo rfention assunrplti..Oh"made in this process.

,,,,:&#-, .d=fu 
- 

, '="' (10 Marks)

- -#o,
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ffiExplain K- NNffiotitt

Dav Outlook TernD* ll{tuniditv Wind Decisiffiil

1 Sunny Hote';r 3 Hieh Weak Yfl
2 Sunny JTh( Hieh Strong No
J Overcast *Wrifl Hish Weak,, u.-Yes
4 Rain+'": "Mild Hish W'eflli,,* r" No

5 Ra"ifth-'': 'Cool Normal Weak-' Yes

(06 Marks)

b. Explain steps of lly Weighted-.}.=*lear regression. (07 Marks)

c. Describe Radil&libasis function with'appropriate diagram. (07 Marks)iate diagram.
['t6i*
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